—RAEX [N - L#Rk#R] No.1
1 RO FRREME RS,

(1) —0.1(z+2)=0.6(z+9)

.

(2) 0.7(x — 8) = —0.4(z — 8)

pia

(3) —0.5(x—4)=0.2(z —4)

4) 02(x+9)=07(z—1)

%

(5) 0.8(x—1)=0.7(z+9)

(6) 0.6(x+7)=03(x—7)

.

(7) 0.8(x+2)=0.6(zx+9)

/S

8) —0.3(x+9)=—-0.1(z+7)

i

(9) —04(x+7) =—-01(z - 2)

%

(10) 0.2(z —5) = 0.6(z — 5)

i




—RAEX [/ - Liki#R] No.2

1. KO FFEREME 72 S0, 6) —0.4(x —7) = —0.8(z — 3)
(1) 0.9(z+4)=0.3(x+4)
%.
s (7) 0.2(x —5) = 0.6(x — 5)
(2) 0.1(x —8) = —0.4(z +2)
.
. (8) 0.1(x+1)=02(z+1)
(3) —0.4(z+7) =—0.1(z —2)
.
X (9) 0.8(z +2) = 0.7(z +5)
(4) —0.7(z—5) =0.7(x — 5)
.
K
o (10) —0.6(x —4) = —0.2(z — 2)
(5) —0.3(x +3) = 0.3(x + 1)
3
3




—RAEX [/ - L#Rk#R] No.3
1 RO FRREME RS,

(1) 0.3(x—5)=0.9(x —9)

.

(2) —0.4(z —6) = —0.7(x + 3)

s

(3) —0.8(x —6) =0.8(x +4)

4) —0.1(z+3)=0.9(zx +3)

%

(5) —0.9(z +4) = —0.2(x — 3)

(6) 0.4(x —7)=—-0.2(z +5)

(7)

(8)

.

—0.7(x —7) = —0.6(x + 2)

/S

—04(z+1) = —0.6(x + 2)

i

9 0.2(z—8) = —0.7(x + 1)

%

(10) 0.9(z +4) = 0.3(z + 4)

i




—RAEX [/ - Liki#R] No.4
1 RO FRREME RS,

(1) 08(z+1)=0.1(z+1)

.

(2) —0.2(z+3)=—-03(z—1)

pia

(3) 0.8(x—3)=—08(z—7)

(4) 0.4(x+3)=0.2(z+5)

%

(5) —0.4(z — 6) = —0.7(z + 3)

(6)

(7)

(8)

—0.6(x — 8) = —0.8(z — 9)

.

—0.7(x +5) = —0.5(x + 1)

2

—0.1(z + 3) = 0.9(z + 3)

i

(9) 0.6(z + 6) = 0.8(x + 5)

%

(10) 0.5(z + 8) = —0.6(x + 8)

%




—RAEX [/ - Liki#R] No.5
1 RO FRREME RS,

(1) 0.4(z+8) = —0.6(z —7)

.

(2) 08(x—1)=0.7(z — 1)

s

(3) —=0.6(x+7)=-0.3(x+2)

4) 04(x—7)=0.1(x—7)

%

(5) 0.7(x — 8) = —0.4(x — 8)

(6) —0.6(x —1) = —0.9(x — 8)

.

(7) 0.4(x —7)=—-0.2(z +5)

/S

(8) 0.6(z —6) = 0.5(x + 2)

i

9) —0.7(x —7) = —0.6(x + 2)

%

(10) —0.8(x —5) = —0.7(x +7)

%




